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Which of th&¥ollowing statement is
not correct regarding learning ?

1) Learning iIs a change in
behaviour through practice.

2) Learning occurs as a result of

experiences.

3) Learning is relatively
permangnt change in
behavioﬁr.

4) Learning, is a change in
behaviour due to maturity.

Which of the following statements
does not indicate the importance
of spaced method of learning ?

1) Learning doesn't get tiring

2) Memory traces not consolidate

3) Maintains interest in learning

4) No mental boredom

[~
Which of tfd following act of the
‘®acher blgdks the potential of
Creative chﬂg?

1) Encouragement for divergent

thinking
Insistence on conformity to the
ldeas of others

2)

3) Freedom for expression of

ideas '
Y Motivation for innovation :

k
- -k y b_..
R L .f‘ .

& Scanned with OKEN Scanner



B ™~

L

& Y s T8 AR
2) Fafds an ¥
(3 3 fm weR & R o T
S|
4) %aﬁ‘mﬂmﬁ?@ﬂ%%
o |
=
5. Tl F F ddeEE NE 96 B B
diE & T HE B dEd oW Ode
o fraes g sfoaied fean T ?
1) Yoo
& OHEEE
3) Rt
4) dfead
6. s Rl & Rt
¥ Pe-|1 O o e e !
| e g g r‘;r
FE , b. Had WMl o
e wWRR g

does not correctly explain the
acquired motives ? :

1) They are not innate

2) They are universal

3) They are not essential to
sun;ival

4) They affects learning

'The satisfactory effect of a task |

affects the learning of that task. |

Who propounded this law of

learning ?

1) Pavlov

2) Thorndike
3) Skinner

4) Watson

- -

. Which training is not necessary for

teaching-learning  of
imp_aire;i students ?

a. Lip frea.ding

c. Braille-script

-y '._' S
1) aandb i
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. A child has to leamﬁ lesson by "

SE i
§ o

dividing it in several sections as per
his convenience. Which is this
method of learning ?

1) Whole method

2) l\éssed method

3) P@t method

4) Inejdental method

Which teaching-learning strategies
will be important for an inclusive
classroom of students with

different needs ?

a. Multisensory Teaching

b. Cébperative Learning

Pefr Tutoring

d. Téﬂm Teaching

1) a,bandd Zj bandc

3) aandd 4) a b,candd

3

In which learning disability, the

following intervention programs are

suggested ? _

(A) Efforts for linguistic
C&lprehension ' e

(B) DEI fmmelhngcmew“ e

1) Dﬁlexi‘a S
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m e e Y O S 10. Which psychologist rendered Bis g
| ﬁm Rrerg # ‘9] g’ & concept of 'object pexmanence' inhis
T T ﬁmrf cognitive development theory ?

N R g | 1) Piaget
2) FEACEH 2) Vygotsky
3) X S : 3) Bruner
4) FHga 4) Kohlberg
11, SRYFEE FAFA F A 11. The evaluation done for the
W R & SR ¥ B om purpose of improvement through
Tegihe e %P_ feedback during the instructional
% program is called as :
1) ATEE < 1) Summative
2) s E; 2) Diagnostic
3) TIHEHSF 3) Systematic
A IR EVACRICED 4) Formative
12, freidfes § & #9-9 @ SR 12. Which of the following is not an
HE 7ET & 7 extrinsic motive ?
1) TR 1) Approval
2) 9l 2) Power ;
3) Iy ! 3) Achievement !'
4y fgom '  4) Rest
13, R o ﬁmw Rr? | 13 who wmedmetmmw@?—
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17.
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According to Gagne learning
model, which type of learning will
not be required before any
concept learning ?

1) Chain Learning
2) Rule Learning
3) Signal Learning

4) Discrimination Learning

Which of the following intelligence
tests is a non-verbal intelligence test ?

1) Army-alpha Test

2) Raven's Progressive Matrices
Test

3) Binet-Simon Test

4) Jalota General Mental Ability
Test

According to the Vygotsky the
speech which is directed to the self,
that is known as :

1) Social speech

2) Private speech

3) External speech
4) Interaction speech

Which teaching-learning method is
not included in a child centered and

progressive education ?
J‘.t.
2

1) Project
2) Problem solving

3) Lecture
4) Experimental

W LY
P
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18. Prefgg § @ fF-1 HH A9 18. Which of the following factors is not
Ryeyamall @t gefad FA A G included in the hereditary factors
F § atafa 7@ e ¢ affecting individual differences ?

1) rOR® qET 1) Physical Structure
2) g% 2) Intelligence
3) e 3) Aptitude
4y AR 4) Attitude
N .

19. Eiégﬁzﬁ 3 foetl W g & 9§ 19. What type of motive was used to
T, fafire. @eer g &% foe fod learn a specific behaviogr in
TR B ARERE H ST R W Thorndike's learning experiment
a1 ? on cat ?

1) Afew AR 1) Biological motive

2) TR HAMRS 2) Social motive

) 9™ IR REE] 3) Extrinsic motive

4) FraEiE SIS 4) Environmental motive
g

20. sfpnaTl RERE # fg Pt 20. Which of the following educational
ﬁfa% P-4 Afed e H A arrangements should be made for
aif|T ? talented students ?

A @ 1) Acceleration

2) UGS [9Teror 2) Remedial Teaching
3) g AEH 3) Reading Practice
4) dIH-I9EY 4) Speech Therapy

21. fffag & & $9-@ IO acdEe 21. Which of the following is not an
& = @ Jqgd qEoTs  SaeiiE appropriate social. behavioural
ﬁgﬁiﬁ[ T ? characteristic of late childhood

tg children ?

1%W 1) Cooperation _
2) wErpIm 2) Sympathy vy
%) _i i! 3) Empathy &
i _4) Ego-Centrism

[ Level-1/1101]
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What type of #darning is the basis
of Pavlov's learfiing theory ?

1) Conceptual

- 2) Conditioned

24.

25.

26.

3) Insight

4) Imitative

'Zone of Proximal Development'
this concept s coined by which
psychologist "S

1) Erikson 2 2) Vygotsky

3) Kohlberg!a 4) Piaget

Which of the following factors

negatively affects learning ? 1
1) Practice

2) Will Power ¥,

3) Motivation i

4) Fatigue :

\ £ ¥
When the mo& development of a
child is based-‘hn the desire to ha
declared a gegd boy or a good
girl, thenwl@txsthlsmemﬁ%g.
related with ? b AR 2

1) Individualism and Excl
2) Obedience and Puni
3) $acial ww.
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21.

- 28.

29.

30.

from: ~ '
1) Cor%ption to Maturity '
2) Birttgo Maturity

3) Con&ption to Death
4) Birth to Death

90-110 range of 1.Q., represent
which intellectual category ?

1) Average
2) Bel@ Average '
3) Abqkj;ose Average y

4) Supglior
A

Which name of late childhood does
not refer to the influence of peers
in the process of socialization ?
1) Gang-age |
2) Age of conformity !
3) Play-age : |
4) Transitional age I
I

Which o@he following statement is ?
not cfrect in context of
development ?

1) Devaopment )
functional changes.

2). Develepmemal pattern s

%
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- 46. Choose the correct option to fill in
" the blank :
- sleep after reading at

least 20 pages every night, when
“he lived in hostel.

1) will

2) would
>

3) might

4) shall

41. Choose the correct prepositions
_for the blanks :

He has been living ........... Calcutta

........... las’t three years.
1 in, since

2) in, for

3) at, for

~ 4) into, since

. I met Mr. Shah at ....... U. S.
airport.

49.

50.

51.

\D
Choose th@orree‘l— option to fill in
the blank :E; B

_2) meanest

3) meanly

4) most meaner

Choose t% correct one word

substitutiono®
- ln r
A d1sease.t‘11|at spreads over a large

area. o)

1) effeminate

z.)f'gernliéide

3) epidemic
4) illicit

Choose the correct option for the
underlined word :
She is likely to come mday

.—1*)" Adverl&

2) Aﬂjec%
3) Pronouﬂ'
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53. Choose the correct option to fill in

[14/D]

the blank :
You will fail ..........: you work very
hard.
1) nevertheless
2) howsoever [~
™
3) unless 0
~ . tn
_4) beside <t
v
(-
54. The synonym of 'Filthy' is :
1) weak
2) fluffy
3) dirty
_4) strong [~
' o™
o
55. The idiom — "To pay o@ld scores"
means : i
-

1) To return capital without
interest

/> Tohave revenge

38) To live within one's initial
income

4) To refuse to pay one's loan

o\
o

56. Choose the correct op@n :
‘Misanthrop' is : E

1) Something imaginary

2) Something not based on facts
_~3 One who hates mankind

4) A calf for sacrifice

57. The word 'pious' means

1) religious and moral

__2y worthless
3) liberal

4) traitor

58. Choose the correct sentence :
1) He break her heart by turning
down her proposal.
2) He breaked her heart Dby
turning down her proposal.
3) He has breaked her heart by
turning down her proposal.

_4) He broke her heart by turning
down her proposal.

59. Choose the correct option to fill in

the blank :
2 7 S St his sister more than
anyone else.
1) love
2) isloving s
3) was loving £

4) loves

60. Choose the correct tense form :
Look ! Here
the drama.

.......... the director of

1) hadcome 2) have come

— : \ a2 i _$) come 4) comes
[Level-1/1101] ACe= 425 L y A #

P T =

B\n= ugmq =
Doy = : lwﬂﬂf’?
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Direction : Answer the following questions by selecting the most appropnate option.

61.

62.

63.

RIS

tana + sina = m adr
tano— sino = n @f, al (m2 - nz)
U 8
1) mn
2y
n
8) 4Jmn
4) 2vJmn
d’rmeﬁﬁaameﬂwzo BT C
TR T SEd 19 94T C 7 A F
Aeq 218, FAFATS :
1) 24
27722 Yo
3) 20
4)) 18 58
U2
3 fRdl HE 9 F 'ACE' @ 1925

T4 BIG F '48149' forar omam B,

e

S ?
A+8=20->
1) 41549 pt L= AX2? X+,
2) 162259 ek} =9\ Y1 >V
(_,_'3).‘ 1622549 : ‘
= 2L |
4) 1622249 9U 29

[Level-1/1101] gawiug | b

61.

62.

63.

If

tano — sino

tana + sina = m and

n, then (m2 - nz)

equal to :

1) mn
2) |2
Il

3) 4vVmn
4) 2+/mn

D145627

The average of two numbers A and
Bis20and Band Cis 19 and C and
Ais 21. Then the value of A is :

1) 24
2y 22
3) 20
4) 18

In a code lang[:lage '‘ACE! is written
as 1925 andt%BIG' 1s written as
'48149', then 1‘ﬁ“'the same language,
'DOG' will be @rltten as:

1) 41549 Ue il

2) 162259 o= | 33
158

3) 1622549 >

4) 1622249ﬂ . &Y \

ACs —1q2§ 2L PO
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[16/D] ﬂ :
f the following
64. e gwgr oft & ST U FC 64. Find the next term O |
ies :
Fifora : number serie
1] 2,7
w& i 5, 10, 26, 50, 12
, : ™ e
i 1y 154 |
1) 18 X ) S
2) 162 '5 2) 162
S '
3) 170 3) 170
_4) 178 4) 118
65. GGTT H T PO : 65. Find the odd one :
2
1) 9T s 1) Major
) /?/Lﬁ ) J
2) I 2) Colonel ﬁ
o £
3) wshiw ¥ 3) Admiral
&y fdfeax E 4) Brigadier
66. 3T A, BH 94, C, D 4 &=, E, D 66. If A is heavier than B, C is lighter
d 9 W B § & 8, al W 4 than D, E is heavier than D but
a9y T P 2 7 A lighter than B, who among them is
6 the heaviest ?
DE3A
1) B 2y D C 1) B 2) D
B
3) E P4y A 00 3) E 4) A
™
WO Qc
£
67. TF ffed e w91 #, 'PAGES' # 67. In a certain code, 'PAGES' is
RDIHU' 97 /AVRITE' & 'YUKWG' written as 'RDIHU' and 'WRITE' is
for@r sar &, o 'OTHER' & SHI 9T written as 'YUKWG!', then 'OTHER!
7 g g 8 R s ? will be written as in same code :
A QWIJHT 2) QWHJT 1) QWJHT 2) JT
) N e Pa)gsw Vi
3 ownr o) owmy ABEDF % A KN e L WA
o
' — RP\HWU I o
[ Level-1/1101]%" PAULS R T
i ¢ = YV Kw WY
WRA\TE 7 \
. OTHER=OWIMT
e e ——— T T ALY I ST —— ey J
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68. Pretfemaa Aot % v 0 €

GAT, J9R, M20P, P43N, ?
A S88L
2) S90L
3) S90M

4) S88M

69. A,B%Tgﬁ,%,BﬁWC%QEEEﬁ

10.

D T OF T E §, F, D & A1 2,
WAFDY F g9 8 7

B
S
Ly B G b
S
2) g =
3) @ |
4) R E |
i 15 G % HY g, 20 G
% P g9 & IR @, @ @
gfee ® o — 15
1) 20% \eo— 20
0 %
5% %
3) 30% :
1 e
4) 33-% :
- g 1w

[ Level-1/1101] e - |20

68.

69.

10.

"y

The next term of the following

. (3 s
series : o

O
GA4T, J9R, QZOP, P43N, ?
=t

[17/D]

1) S88L
2) S90L
3) S9OM
4) S88M
[‘t.
N

A is the son o’fﬁ?. B's sister C has a
son D and g{ daughter E. F is
maternal unclé: of D, then how A is
relatedtoD ?

1) Cousin

2) Brother

3) Uncle

4) Father

If the cost price of 15 books is
equal to the E"ﬁelling price of 20

books, then tl{‘gloss percent is :

<
1) 20% i

o
2) 25%
3) 30%
4) 33lo, intied
ne 9 905% B
}5:_ P.T.O.
'15
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[18/D] -
' . ition of how many letters in
71. BRAKES' g @ ofrd A S e iy BRAKES  remain
guierar & Srgare A 7 e arerdt the word - 3
% ®F 7 ufads 787 e ? unchanged when they ;re S
~ in English alphabetical order ?
N :
S50 © Bﬂfél\i‘d | ) 1
2) B bl neé 2 2
, 0
3) 3 3) 3
4) 4 4) 4
72. UTH THEN 7 Iuf 7 IhgiE S H I 72. In how many years will a sum
3 il & Sl %, @ g8 T 27 become 27 times when it triples
NG b et & 2mf (G‘TET% & 9HH itself in 7 years at compound
[‘N...‘
a) ¢ % ,‘] 5 3\.1 interest (when rates are same) ?
1) 18a9 H LQ C 3 1) 18 years
2) 1995 #§ 3 2) 19 years
3) 20a9t H S/’ 3) 20 years
Ar 2198 § S| 4) 21 years
73. e.ﬁép, + %, Q, —F, R, + FIAIS, x H 13. If P stands for +, Q stands for —, R
SFTT e %, ll stands for + and S stands for x, then
S the val f
185 36R 12 NP QODN HS i
QOPTH. A & : 18S36R12Q6P7is:
IR 15 415
()]
2) 85 19K30L—0H T B85 e
~3) 55 £
3) 85
A 0 A RN

[ Level-1/1101] ﬁ ﬂ (|
L
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74, 7% A q@ Ren # oI B, T @ W
% g # Ran & 100° qH A B
T 98 145° T 991 A Fmda fear &
W oo A feE Rem &
AR B ?
1) I
2)
3) aRyT-ufREd
4) II-W

75. IR y F x% F AH 100 T z H
y% H T 200 &, O x q& z |
ey T
1) . s=%/2
2) z=3x
3) z=2x
4 z=4x

[ g X2
P22

76. % /0.05x0.5xa =0.5x0.5xvb

E}Eﬁiaﬁfrﬂ?% le lo lo
i b ’,l.._

1) 0.0025
2) 0.025
3) 0.25
A 2.50

77. 10 oS A O [ SgEe @
gl oo F OGN E

1) 6n

&> 8n @
3) 10m
4) 12n

[Level-1/1101]

14.

15.

16.

7 i

[19/D]

If A is facing east then he turn 100°
in the[ _glockwise direction and then

agair{‘é! turn 145° in the anti-
clockwise direction. Which
direc&n A is facing now ?

1) Nbtth

2) East

3) South-West
4) North-East

If x% of y is 100 and y% of z is
200, then a relation between x and
ZiS: [~
1) Z%X/Z

g,
2) Z'ET‘SX
3) z=2x

(-
4) z=4x

If +0.05x0.5xa=0.5x0.5x+/b,

then % is equal to :

1) 0.0025
2) 0.025
3) 0.25
4) 2.50
[~
o
0
The sum of all interior angles of a
regular polygon of 10 sides is :

1) ek

2) 8m
3) 10n
4) 121

PR
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78. wF o g0 f gh A 7 o A

19.

80.

81.
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7

qa Fe 2, ae ot gh 8 el /A
F W A Yoq T@ H a7 16
Reft /g &t ax @ onifars g0 agfehe
A T & 2, Q@ 98 Yo Rea gl

qadr & 7 e
) 28fE < %S T
som §2 55
3) 32t Q’[ "
s s3f B [(6— M
et
./
T §HEE Brs @ 9o @ S @
I & :
1) 231 2)* %z 1
3 V3:2  4) 2:43
o
Th T AT S PO B e A
T =gy Sy :
- T T
2) ad
3) &
4) A g
A @ﬁ%%ﬂ%lsﬁaﬁ%
R]Tﬁlﬁﬁim: 2
) = ahige O
2) HRo &EeHA
3) So gMHH
4) Sifst 9i9g

[ Level-1/1101] &

18.

19.

80.

81.

A man travelled a distance of
80 km in 7 hours, partly on foot at

the rate of 8 km/hour and partly on
bicycle at 16 km/hour, then the

distance travelled on foot is :

1) 28km
2) 30km

i
3) 32km %
4) 33km

The ratio of the side and height of

an equilateral triangle is

1) 2:1 2) 1%

3) J3:2

4) 2:4/3

The quadrilateral formed by angle
bisectors of a cyclic quadrilateral is :

1) cyclic quadrilateral
2) rectangle
3) square

4) parallelogram

The Irish soldier, who established his

own Kingdom in Haryana in the last
decade of 18th Century :

1) Charles Eliot

2) R.Hudson

3) ]. Thomas

4) George Thomas
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g2. P, wh fHg-gee@d wdl @,
et ©
1) Jeas H
2 fEr g .
3) WaeEE §
4) e |

[“-\
83. URMEE /W 204 ¥ @RREE wat i

aﬁmvn%ﬁm@ﬁ%?

1) TN
2) difg
3) o=

4)LI—G£IT‘:[
~
84. gﬁuwn%ﬁmﬁﬁaﬁmmaﬁ 9 9
Eﬁﬁﬁﬁ(ﬂﬁﬁ‘*ﬂ:ﬂﬂwiﬂm?
@

A TGER e e
2) o sEgE @ el

3) = HEER g9

4) 4l 91 THE=

.
85. AWM F T B, T w L
o Rew ¥ 0 o

=

- e =
B o

3) &AM

4) HEOT 4
[Level-1/1101] ﬂ

82.

83.

84.

85.

[21/D]

Bhirrana, an Indus - Saraswati valley

site is located in :
1) Rohtak

2) Hisar

3) Fatehabad
4) Ambala

Palak Gulia, who won a Gold Medal
in the Asian Games 2023 in an
individual event, belongs to which
district of Haryana ?

1) Jhajjar

2) Jind

3) Ambala

4) Gurugram

Who among the following Governors
of Haryana was also a member of the
Constituent Assembly ?

1) Sardar Harcharan Singh Barar
2) ShriJaisukh Lal Hathi
3) Shri Mahabir Prasad
4) Shri Babu Ramanand

The district of Haryana, where a
National Park is located :

1) Rewari

It
3) Gurugram
4) Sonipat

P.T.O.
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Haryana, which is ..
86. The town of
Fer, A FH TN

86. ERAMT H TT for manufacturing  of
. famous
% Fafor 3 forq sfRres & ¢ agriculture jnstruments :
2) Balaana
1) AR 2) @ 1) Kala%ur - 2) e
4) Samalkha
B el 4) FAEET 81 Dadee )
Q .
87. Fs A N T8 ¢ : 87. The height of the Karoh Peak 1s :
1) 1400 HieX q % 1) More than 1400 metre
_—2) 1500 ¥ e 2) More than 1500 metre
3) 1600 HEX § 3HH® 3) More than 1600 metre
4) 1700 Hex ¥ afes 4) More than 1700 metre

88. Frifefed & & fog ¥ @@ 3 88. Who amdrg the following Sufi Saints

g a5 F fd foafee 1 e established Chisti order in Haryana
Sl ot ? region ? LQ
) AR SRaEr H 1) MohiThmad Bakhtiat Kaki
2) 9T BAgEH 2) Baba Fariduddin
3) THIGEN Teue 8) Nasiruddin Mahmud
4) ?(FLLETI\TT 4) GesuDaraz
89. &fwmm # fFaw Sy@ve ¥ ? 89. How many Sub-Divisions are there in
Haryana ?
1) 95 2) 49 1) 95 2) 49
3) 143 A 14 3) 143 - 4) 74

90. frarfoe fwmer wowdt & : %
&0y § 90. The hea%uarters of the Shivalik

by e i Developrz?m Agencyisin :
2) T § i 1) Panchkula

3) FTR 3 ": %) Ambala

4) Foae A 3) Yamunanagar

—————— | 4) Kurukshetra
!
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- IV/PART-IV =

TfRrd / MATHEMATICS

Py : Prefafad gedt & IOX 39 & U g Sfd fse gfm

Direction : Answer the following questions by selecting the most appropriate option.

91. IR 10 A Brewr a0 TF Iq H TH 91. If one equilateral triangle ABC is
w9eTg BYW ABC ST ST T o made in a circle of radius 10 cm,
i%rﬂa ABC % UH 'ﬁ P TEE B | then the length of a side of triangle

< ABC is: >
8 :
1) 103 2) 103 ¥ 1) 10cm 2) 1043 cm
: 10
-0z & g D 57 IS A

92. ARPEIA (Axiom) 3 forw fr=fafad 92. Which of the following is most

4 | HE-a1 Haits S 7 appropriate for an axiom ?
b ARFENR #¥E &N gdathet 1) These are statements about
o Hag Fee ?% i algebraic identities.
L0
2) Cﬂ&l‘!élﬂ N %ﬁ@ g Bd B 2) These are mathematical truths
e fa o GT%&' el fpar o which cannot be ptroved or
T B disproved.
3) HPFE A § St 9Rg 3 §H 3) Axioms are propositions
B &) similar to theorem.
4) JRFEIT Haa g Bl 4) Axioms are only definitions.
% FE % oY F7E / Space For Rough Work
1
;

D145627

o : :
Level-
R ﬂ P.T.O.
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93. frft gy % e Al
R 44 ) B e FAE 8 T B
(x=2 difered
7 < q:@
1) 1212 354 =
2r 1232 45
3) 1412 74
4) 1432 9°

94,

O GeT gRUF AIH 39 FA
W e ¥ oA @ R B Y
T o ¥ e

et
1) B oW 3R A s gy
2l

A A ®M % [ B aMEes® Hide
2l

3) BEM & fou A waig ufaess 2|

4) B 89 % fU A omasgs @R
I wfoeey e B

93.

94.

The perimeter of the l:?ase of a
right circular cylinder 1s 44 cm
and its height 1is 8 cm. Then,
volume of the cylinder is

22
(Takeﬂ:-—'}—*)

1) 1212cm’

2) 1232 cm’

3) 1412cm’

4) 1432 cm’
While teaching mathematics, a
teacher arrives at a statement : "A

implies B". This means :

1) A is a necessary condition for
B

2) B is a necessary condition for
A.

3) A is sufficient condition for B.

4) A is both necessary and

sufficient condition for B.

T6 B & fT 578 / Space For Rough Work

D145627

-
L3
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5 3 5
95. T x:%+g,y:3+[(4+5)+6], 95. If X:E+E,y:3+[(4+5)+6],
z=[3+(4+5)]+6 AX w = 3 + 4 z=[3+(4:p)]+6 and w = 3 + 4
(5+6), @ : (5+6),théng:
/1), x A w IUET g 1) xand E@re equal.
A
2) Hqﬂ W%| 2) All are equal.
3) x M y IUEH B 3) xand y are equal.
4) x A z AT T 4) xand zare equal.
96. I TH =;HS & @l FT 180° 96. If all the angles of a quadrilateral
%9 B, A a8 TqES ? : are less than 180°, then the
quad.rilate@ isa:
1) Sad a@ﬁﬁ 1) Conva?yquadrﬂateral
<
—2)7 HAIAd El_g,’ﬁ?[ 2) Conca'g: quadrilateral
3) FHI gy« 3) Parallelogram
4) YHIHA ﬂ@‘ﬁﬂ 4) Trapezium
97. 20 &S H HT T x qEIN B 97. Cost price of 20 articles is equal to
fspba o0 & UET B AR A9 25% selling price of x articles. If the
%) d x F AN © profit is 25%, then the value of x is :
1) 15 2) 16 1) 15 2) 16
3) 18 4) 25 3) 18 4) 25
% F4 % [T 5718 / Space For Rough Work
a1E
: [~
d N é)(-LV .‘:q:y: /
tr?: 5
o
20 5 ‘3’_ S RO Q 3 ) 5
P\ \ e o
J
_ 4 :
S &, §
Lo o 1
[ Level-1/1101] B Tl
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!
98. T TR ) BN A GG FL HEAUD
Fear B, ‘@ qiH F AT HTH

(ardwror) @ g & o A fu
TQ g @ fsTii we 817 98

g o ~
O
(N}
b
1) FEE =
}qﬁw
3) wWifs
4) I q

99. Jemil 15, 50, 120, 6, 80, 100, 10, 8

10. 15 15 & g, T o
HifeaEr Hr e ¥ G ar

98. While teaching in a mathematicg

99.

a teacher gives the

class,
statement "Common Divisor of twg

integers is a number which

divides both the given integers".

The statementis a :
1) Proposition

2) Definition

3) Axiom

4) Open Sentence

The mean of the range, mode and
median of the observations 15, 50,
120, 6, 80, 100, 10, 8, 10, 15, 15 is :

1) 48
) a 84 5 g
M /‘ﬁ/ﬂ 2) 39
“\'5}/

3) 52 4 i 53

L"l

5
4) 51 & &

[Level-1/1101]
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l‘l

100. @ ganal a oK b & HoHolo 3T 100. The Izci and LCM of :"Nolnugnber;
e respec
qofoJo AW 6 M 210 ¥ IR a an ar p n;e yl an
L el 210.1f a + b= 72, then — +— =
a+b:'1'2.??f';*'g= g a b
1 | 32 1) l \ Q
1) — b= A0 T
35 prae =
3 ) WL i
2) = Dl 5
5 ) jol 44,8
T \ ) W
317 ..}-—"{_‘ s 5
=Rt T
3 % 2
35 _—3\0 <2 35
e
o
101. Hﬁx2+x—12 Gﬁ_{ szmax._g G ol 101.

If (x - a) isthe HCF of x> + x— 12
|

HoHoYo (x—a)el, @ 'a' 1 94 ¢ and 2x° — % - 9, then the value of

i o
als:
a 30
1)-3 \ - 94 1y 3
2) -3 Al ] 2) -3
3) —4 3) -4
4) 4 4) 4

W Fd B I W& / Space For Rough Work

e
R -

N
Feg e 8T B q g
= &43=c 8 443 1] A

{’H'o? ~19 313;1: .QXQL‘“C{’L“"Ci

[ Level-1/1101 ] b < Qﬂ‘_q%ﬂ P.T.O.
. -3at6= 3
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102, 15%117%5"‘@’@?

=g s e € 7
1) 814 Y
)T
_2) 820 \lq%
3) 840 3'1
4) 841 X = 3/><
& ik 9
103. Wﬁaawmqué;
qId oremr 3 7

4 & Rl #t wd we & e

102. What is the least number of s :
tiles required to pave the floor of 5
room 15 m 17 cm long and 9

2 cm broad ?

1) 814
2) 820
3) 840
4) 841

103. Which among the following is the
best- pedagogical way to teach
mathematics ?

1) Find the weakness and teaeh
only those parts

2) Motivate the
develop their

learners tc
existing
capabilities

3) Find the gaps and addres:
only them

4) Teach every student with the
Same approach

W Fd F fm ST& / Space For Rough Work

D145627

TTs
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j04. A P et @ i & wd

@ o N B B H HEAR
A& Y @ Frefefed & & fea ff
T R B S =el ?

e

1) fremef @ @R Fon T T
Torll | ARG
-
R

2) femdt vy @Y & Rw T

3y TgEad Hisw MR Rueer wvEh &
S § R st s @
T A QR o o 3
ﬁweﬁq?r@umm|

4) ﬁm&ﬁaﬁ%a&ﬂéwﬁ%
T B s A e R
3 forg oY 39 womell ST
q9 JHR F greEel § #1 B
fere el

104.

I [29/D]

If a student finds difficulty in
applying geometrical theorems to
solve a given problem in
geometry, then which is the most
appropriate strategy that the

teacher should adopt ?

1) Punish the student so that
he/she does not repeat the

mistake.

2) Ask the student to rote

memorise the theorem.

8) Use multisensory models and
teaching aids to help student
understand various theorems

and their applications.

4) Tell the student to copy the
steps of solved problems from
the blackboard and apply the

method for similar problems.

G &4 & [T S / Space For Rough Work

D145627
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s
%/_ [

= 1 1 1_
105. Qﬁzrzsyz(lO) l, fﬁ —+—'+-—z--—

£
7
s 2) 0
M 32
T 4
3y — 4 —
T ) 18

106. zfr 9"x8°x{((®)"*}*F-@D" _ 1
3% 5,88 27

dl m—n % A T BT

1)/—2

3) -1 4) 2

2y 1

107. “Tor, 9% wgfy & A9 H emERed
B H/AAR B T qUdB &7, T8
g & T B

)mm
2) Icfiferar ara

3) ¥ EW
4) AU &R

106.

7Jd0inTelegram Gropp "HaryanaJobs. ikl
0 i

1 Y1
* = 2! — i A
105. If2 =[§f_*(10) ,thenx+y 3
o
76
: 0
1 2)
) _ﬂsa__i
=)
7 4 L
¥ 16 T
Find the value of m — n, if
gnxszx{(s).nfz}_.z__(z?)n zi :
33m 23 . 27
{*»....,
1) <25 2) 1
o
3) -1 4) 2
=

1017.

=

-] .
The definition "Mathematics 1s 3
way to settle in the mind, a habit o

reasoning" is given by :
1) Locke

2) Galileo

3) Bruner

4) Napoleon

% 14 % fow 718 / Space For Rough Work

.I".t_
e
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2
8m:+ 9n° - 12n 108. 1f 4m”> + 10mn — 8m + 9n" - 12n
= (am + bn) (am + bn - 4), then the

3 o T
valueofa +b 1s:

108. 3 4m’ + 10mn -
= (am + bn):(am + bn - 4), @

&+ b F A e
1) 13 2) 25 1y 13 2) 25
/3) 35 4) 12% 3) 35 4) 10
O
109. R Reelt gem # 9 355!?31 fear &Q 109. If 35 is subtracted from a number,
| @ ; R
W = 80% ® W‘:ﬁgl al reduces to its 80%. What is (g]th
4) o |
[E] R S [M$T; of that number ?
1) 70 2) 90 chgg 1) .28 2) 90
3) 120 5 140 —T% 3) 120 4) 140

110. ffafad & & SE-A1 ToRE T5 110. Which of the following is not true

3 g<d § 92 FETe ? about a mathematical theorem ?

1) 3 B fiem =|iﬂtéﬁ.aa?ﬁ F a 1) They are generalized
7 ol & W U 2 statements of truth about

<t certain mathematical facts.

2) g= TONE &9 ﬁﬁq@' BRI 2) They can be  proved

Tl Bl mathematically.
/Safw i g B s & W 3) There is only one way to prove

UHHTS Tl Bral 2l any theorem.

4) g WA W STgHM 4) Unproved theorems are called
(Conjectures) Fed ol conjectures.

L3 7"@ . TG F14 & 1Y 5TE / Space For Rough Work :
’ ¢

N S

) o B T R i pio

3 T o T - - Q;g ’F% ———-—-——‘%NW :

1 v —a luo -

WL{ ! 45,"%3\(%’ 1835 Q”"“__-‘;"M [y ¢ ¢q

b 5 iy %X%‘" ¢ (j\o; ZN% :
evel-1/1101 S .

”S— X b s

s 1, e T
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A triangle W1th three equal Sld&q
has its area %ual to 4+/3 Squa_re
cm. What Wﬂ@e the perimeter of

1. % By P d gomd ST 111.
H A6 443 @ AW B 3@ B

1 gREmg @ anf ?
this triangle ?‘S
1) 109+ 1) 10cm
2) 1294 2) 12cm
_3) 145 3) l4cm

4) 163W 4) 16 cm

["-«.
112. @& i op gl BT &l 112. A teacher Cl% a circular pape:

Jao-ve Breuauet & Fear § AX |, into thin sectdﬁ and aligns them t¢
I AT TR B e wXfad e form rectanglg This is an activity
2l T TFH iy %, S to illustrate a way to derive ......... |
GO~ HH B T F 9rd B

1) 9 %I gRfy 1) Circumference of the circle

2

) T % A% GE 2) Formula for area of the circle
3 Eal ;

) 9d g 3) Diameter of the circle
4 H AT T
) g9d [SRIESESI 4) Transformation of circle
rectangle

W #4 % R 8 / Space For Rough Work

e X
£ N
O

Ly

<!

—

(]

‘ll
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113.

114.

10%Wﬂmﬁ'ﬂ%:

4.5
4 2]

4) 5.5

1)

456277

3) 5

'.-{

(Ruler)@?wqawa@

™ B Fed ol B d IR
ar (M) § =g & B #
A BT, T AgHA D BN B AN
F B FEA B BH TE TN §
g TS d BN H AT FT
360° a1 [T §80° B1 T& JEETT I
ﬁxa{w—ﬁfﬁeﬁr&ﬁaﬁﬁw%?

D14

1) g i
2) RE-Bied faf

113.

114.

Join Telegram Group "HaryanadJobs.in"

[33/D]

The mean of the factors of 10 is :

1) 4 2) 4.5

3) 5 4) 5.5

A teacher tells her students to
draw a few quadrilaterals using a
ruler and pencil on a sheet of
paper. She tells them to find the
sum of their angles by measuring
each angle with a protractor and
note it down. The students realize
that the sum of angles is close to
360° or 360° in each case. This is
an example of which approach of

teaching ?

1) Generalization

2) Teacher-Centric approach
3) Deductive approach

4) Inductive approach

QN
o \
e
. o
‘_._1
(- ?)/2 \©
"’Sf 0
£

[ Level-1/1101 ]i
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isarpy]
! . ' 22 21
e 73.5 x 10%
a 21 115. Let y = 897 x 100 # E
= o 10 ] ﬁa i rel
115. HE[ y =597 x 107 + 73.5 ;n 3 Whenyy is expressed in standarq
Q wﬁm 6.0435%>< 1 il formas 6.0435 x 107, then the
F A ¥ M "
Sg, o valu&®bfn s :

1) 22 y 4

2 2 2) 23

3) 24 | Pkt

5 21 4) 21

.. = | Which of the following may not be a
116. frefafeg & & @@ 116. cho e
purpese of Mathematics 7

il / 1) ‘tﬁ help students comprehend

RO 37T f ; elp stu
b iﬁ iy i , mathematical concepts
&1 B F ORI St affectively ~ by utilizing
concrete teaching learning

H GHSE § el BT

q% B T EET q_a{a{r Ea, aq.ra. material.
ﬂﬁ'@aﬁ FHETT 2) To give space for students to
% e o = I prepare for mathematical test.
8) BRIl i W S & HA B 3) To enhance their interest and
3R IHTE TSI : motivation in learning
4) @, Gefdl o fesf (dfew) mathematics.
I H Ry IERIES 4) To conduct activities focussed
THT-GHI. X SfEa TRt at mathematical problem
S solving using games, puzzles
and models. F
% %14 & AT 5Te / Space For Rough Work
a°g N
Te)
ql
.
[
-

[ Level-1/1101]
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111 Ife a-—l=x/—2_1 ) @l a > 0, ar 1117. Ifa—l=J2—1, where a > 0, then
a a :
| ) e _ 5 A : B
at+—||la+t— EHIHF-T% the value of |a"+—||a+—| 18
a’ a a’ a
. equal to :
lH
1) 113 ES 21 1y5ES
2) 115 e 2o 2) 118
= _,,/T”
3) 114 il 9 3) 114

4) 110 % 4) 110
—TU|

118. g 24 &F, 25 T AT 7 &N A 118. Area of triangle of sides 24 cm,

e B 1 A 14§ @ A 25cm and 7 cm is equal to the
e T FAFT b AU g, ™ area of a rectangle of length
IE I H AR %?S 14 cm, then perimeter of the
I*:nr* rectangle is:
s |
1) 204 & \ 1) 20cm
ol i i
2) 183 - % 2) 18cm
3 se@d W 3) 36cm -Zl"(i
99 i >33
4) 40 T - 4) 40cm \[ 22
A e / Space For R )%—*%
W ?sgi % fo pace For Rough Work 90 ﬁ?
AT Y
— FEEI N ' pm‘
0 o= - l 2 Jﬁj pis Y
— }-« ~ 4
el Y uw W" Ll <~ luul

1T et Sl 1 L 5 2] AL Uq1—

o 2 = = =
a0 i Ar T ”st_g-*—_’__)
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119, ABCD uws wrEgdwr @, Fwd 119. ABCD is alyhombus in which
ZBAC = §0° 8, @9 34D - 2 /DAC ZBAC = 80°,fhen 3/D - 2 ZDAC is
TET T equal to : z

A
1) 120° T 120°
2) 140° . 2) 140°
B3y 150° 8 -
A, 3 ) 180
4) 160° 3 p)) 4) 160°

120. A : | o

aﬂ;ﬁ?Bﬂ%ams.z%ammﬁ% 120. The income §f A and B are in the
ST : i
- TG 5:37 Harg g ratio of 3 : Zg?nd their expenditure
5 .
& EI%@'EF: 500 %o €g1qr %, @ B In the ratio g S : 3. If each saves
A R Rs. 2500, then the expenditure of B
thomt -3 1. 9 : is :
1) 8000%o gwpen: S - 37 1) Rs.8000
S.
e 250! 2pew
_2y2600 55, P
§ 2) Rs. 7500
[5’500 5 [DG"-!’Q
3) 8500 &o g0 359
S0 3) Rs. 8500
4) 7000 Fo ﬁ ?\3;
- : 4) Rs. 7000
s % fra ST'Te / Space For Rough Work™
¢ YD
LN
=
—
)

. o
[Level-1/1101] ﬁ
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m—VIPART—V
7 arega | ENVIRONMENTAL STUDIES
['b-..,
e e 3 o 23 @ Rie e ofw R g o
Di,-ection . Answer the following questions by selecting the most a\gpropriate option.
= :
r_.i
121, FrE EVS R ¥ @ F9 S 121. How can “teachers inclusively
qfﬁ’_ﬁ‘” H G BT A Y T integrate indigenous knowledge and
F THA © 7 ‘ perspectives into EVS teaching ?
1) ureEEH fEeEE ® OhE % for 1) By neglecting indigenous view
Rl gftehior B I B points for uniformly in
curriculum design.
8 drEq & I B TS HA B 2) By prdaptive seeking and
Ry @Rl 5, [SIESIRED DI integrats indigenous
AT %iﬁaqgl”if FH dGpd & q knowledge, cultural practices,
e A T A Hl and pergectives to enrich the
learning experiences.
3) J& g 3 Yt sfeso Bl 3) By exclusively prioritizing
Ry ® T W Lead mainstream scientific
perspectives. .
4) RfEar & FHH FH D IO 4) By advocating assimilation
STTE FE F abed B instead of respecting diversity.
122. F% an fEd @O ST W P 122. Why are many thermal power

[ Level-1 /1101 ]

Join Telegram Group "HaryananiEEﬂ' "

;rﬁaaﬁ%wmﬁwﬁﬁﬁ%awﬁ

-

1y e & o § AR A
arg JwoT H FHH BT

2) faE@ Uwor & A ¥ gur
FHEA

3) el SEEE A qE @
JELTHA B FH HT

g FE A Yk @ D
o § aft@ed &

J".t.
3

plants typically set up near coal or

oil fields ? E;g

1) To redm@e air pollution from
burningrof fossil fuels.

2) To impSve the efficiency of
electricity transmission.

3) To minimize the need of water
in power generation.

4) To transport coal or petroleum

more easily.

P T Q.
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L

Join Telegram Group "HaryanaJobs.in"

B
[38/D] i

123. EVS R & g=+ & @oe & ardd 123. In the context of' EVS teaching, |
Co i what does scaffolding refer to ?
D B @ owlE wEEE 1) Providing excessive help tg
HEM students.
2 - vF PG AR W g 2) Gradually reducing support as
FQ T, G - &9 Bdr students gain skills ang
ST f‘(\:] knowledge.
3) fFuifts womt & #Ear @ 3) Rigidly adhering to a set
BINERCTGI] 'Q curriculum.
4) BEI @ a‘—nEl aREgl q ST 4) Isolating students from their
HLAT peers.
124. - AR -4 3 T W @R 124. Consider the terms in Column-A
CIgs and Column-B :
PlTH-3 - Column-A Column-B
oré forerf B,, By, Be, Bys Protein Vitamin By, By, Be, By
Ikl %WQTI' Sugar Calcium
Eﬂﬁ’g@z m‘io' Carbohydrates Energy
ERIEEH Q'IFL('(‘ZIFG) Vitamins Pulses (Dal)
giet Iﬁfﬁﬁ Minerals Glucose
-9 § P-d GRS BeE-or § What definition in Column-B
‘g ¥ B9 @6l g ? corresponds to 'Minerals' in
Column-A ?
1) 4@ B,, By, Be, Biz 1) Vitamin By, By, Bg, By,
2) Hieqay 2) Calcium
3) el 3) Energy ok
A4 T () 5 4) Pulses (Dal) ¢
O L
125. U qiiRffae asr'j : 125. Inan ecosystem :
(1) FHei H mgfs EEUGEA (i) the flow of energy is
unidirectional.
(i) GrER # J9E O Rures 2 (i) the flow of materials IS
unidirectional.
(idd) AP T S A B B (iif) the flow of materials is cyclic.
(iv) EZ WH?ITE' T B R : (iv) the flow of energy is cyclic.
) QW@ &) @) (i) 1) ()and (i) 2) (ii)and (i)
3) @ Q"Tfi")ﬁ (1) TF (iii) 3) (i) and (iv) 4) (i)and (iii)
[ Level-1/1101] %
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NEP 2020 & &= # EVS fiwemr
gaTeT e B st ® 7

1) EVS fem ¥ orwarcrs e @
ERINIERRER BE & i

2) Sg¥aTHS R daw fEw Rt
3 o8 grEfE B

3y APTATE e H e R
S ? R T EVS R &
AR 37T B

4) FIHAHH e ¥ T O
& At ®

Rt Rt B R oot @ @ g
TG, B9-8 FRE UG H el
i gIfad & & 7

_B 99 F RO B dn b
&ty
2) HT F FHell e § STEEI

3) TrENfTER @ R ‘:
4) Foir AEREOT F STdeTE =

2) THEM F g AR SAd-dga
3) oI, A AR THS! P AR

4) gl & erfacE aRad|

[ Level-1/1101]

126.

121.

128.

In the coﬁfext of NEP 2020, what is
the role obexpenentlal learning in
EVS teac@lg?
1) Experiéntial learning 1s
discouraged in EVS teaching.
2) Experiential learning is only
relevant for science subjects.
3) Experiential learning 1S
encouraged and integral to
EVS teaching.
4) Experiential learning is limited
. cla%room discussions.
]

it

When cheasing a source of energy
for a give@ situation, which factors
influence the decision most ?

[39/D]

1) The environmental
caused by the source

damage

2) The ease of extracting energy
from source
3) The technology's efficiency

4) The economics of
extraction

energy

What concept is introduced in
relation to-natural processes such
as cloudf}brmation, rain and the
creation of fresh water from saline
water ? T

1) Oxidafon

and reduction
reactions
2) Saturation and super-

saturation of solutions

3) The behaviour of metals, glass
and wood

4) The irreversible changes in
*  substances

P.TA0.
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=
129. NEP 2020, EVS Rmr # geic
ﬁfﬁﬁﬂ%%ﬁﬂmﬁﬁmﬁ?

(@]

O
1) 7 R TR T

WW%IS
%wfammmweﬁ%aﬁﬁ
BEl # §WE B WMWY P Ry

IR (I A o o T
2

3) T EVS R # f5dt ff ygr

® G P EAERT Far 2
N .

4) T® Waﬁrﬁa Gl

BT B

130. 3R oy FEgel A afiFT B 3 R
B SHNT S 7 3 I9ENT 0
%?ﬁﬁﬁ??ﬁ%aﬁﬁﬁ%fm
9T 2 7

D @S o R # 3 N w
99 | &

2) T A AT A oy
Fﬁ?ﬂ%?{ﬁlg

ﬁymeﬂ??’ﬁgﬁ%ﬁﬁm~m
aget § gy A

9 TS ST AR H A A
AR IREa G ! 2

[40/D]

ﬁmf#f

D14

r
[Level-1/1101] ﬂ

129. How does

130.

Impacy
EVS

NEP 2020,

assessment method in

teaching ?

standardised

1) It enforces

assessment exclusively.

2) It authentic

assessments to gauge students

promotes

understanding of environmental

concepts.

3) It discourages any form of

assessment in EVS teaching.

4) It focused on memorization

based assessment.

If you use the property of

magnetic attraction to
objects, what would be the result

for Wooden and Iron tables ?

1) Both Wooden and Iron tables
would belong to
group.

2) The Wooden table would be

attracted, while the Iron table
would not.

classify

the same

3) The Wooden ang Iron tables
would belong to
groups.

different

4) Both Wooden ang Iron tables
would be repelleq by the

magnet, E
:

G Scanned with OKEN Scanner



Join Telegram Group "Haryanﬁ.in"

dr@ @ ahE § "o w0
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1) @Egdl EVS e & fod
e e B

2) H’b’lﬁ,ﬁﬁ‘im'{”ﬂﬂmeﬁ%
;@ﬁﬁs GE R S |2 AR |
|

S)Wwﬁiaﬁmqﬂﬂ%
EacIed Hl ol

ﬂq@@?@ﬁ@ﬂ%ﬁm%
gRedor W AR 3
FerHl STEeT®

132, GRS § W oW orfEd
e A w8 7
1) Y oK aad |
2y T o orEf SgfE

o A e
4) I AR G

Ry a3 o™ qEEid
mewwm
%%ﬁﬁm’cﬁmsﬁmﬂwﬁ%@fm

133.

[ Level-1/1101] -

131.

132.

133.

: [41/D]

While teaching about environmental
conservation, what role does
empathy play In the learning
process ? :

1) Empathy is not relevant to EVS
teaching.

2) Empathy hinders
analys{:s: of
proble‘fﬂs.

3) Empathy discourages students
from taging action.

4) Empathy 1is essential  for
understanding the perspectives
of all stakeholders in
environmental issues.

objective
environmental

What are the main categories of

impurities found in sewerage ?

1) Bacteri[@ﬁ_and viruses

2) Organi%
impurities

3) Solid apd liquid material

4) Salts artd minerals

and inorganic

How can teachers adapt EVS
teaching to address the unique
environmental  challenges and
opportunities in different regions ?
1) By using fit for-all approach to
Environmental education.

2) By ignoring regional
differences to maintain
consistgncy in curriculum.

3) By incéiporating local context,
case studies, and involving
students)in local environmental

issues. O
4) By avoiding discussions on
regional environmental
concerns.
P T Ol
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134. Prefafeg & @ - Refm BB
S o Rafy & @@ &1 A Ad 7@
@ ¥, @ @ A A F B A
HGg T THAT 8L
1) f%’xaﬁr—rcxfr}zb‘cﬁ
2) fafm D -Reed

3) fyerfe A - Wi
&) -fef= K - &7 A

135. Jg # f=ifcfed § § #9-61 92
qgEET F G Sl A A A © 7

A ARSI
2) SRS
3) Serarsy
4) FEA TEFES

136. EVS - 7A@y ¥ g hadl
gHfad w3 Reml & @
FAT ARy ?

1) sl & @ ok e W

R 1o ot e - A o o

2) BEl % AT FW P foU TH
FoT EFe JeM &

D145627

4) BET H AT BT F AT o @
gared &

of
[ Level-1/1101] ﬂ
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134.

135.

136.

i
Which of the following Vitaminé_,iﬁ
not correctly matched with §
disease OT condition that can help
to prevent or alleviate it ?
vitamin C - Scurvy
vitamin D - Rickets
vitamin A - Night Blindnesg

1)
2)
3)

4) Vitamin K - Tuberculosis

Which of the following componens
of air is present in the largeg

amount in the atmosphere ?
oK ;
e

In an EVS role-play activity, what

1) Nitrogen

2) Oxygen

3) Water vapour
4) Carbon dioxide

should teachers do to ensure ifs

success ?

1) Overdirect students' actions
and decisions.

2) Provide a rigid script for
students to follow.

3) Allow students to exploré

various roles and make thel

own decisions.

from

4) Discourage students

participating actively.

1
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137,1@13@51?%3%&@61&%%%& 137. How
CiE e SC) 2 B DIE G 3 M I R |
FA R EEUR B A A |
$8 ar R S ® 7
un

[(43/D]

can the concept of
appreciating different food
preferences be applied in daily

life to promote harmony and

oty understanding ?

1) 39 & Q{Dt"{ e 5 aft A 1) By insisting that everyone

THe oiR AR us S el should have same likes and
AT T

Elli%Ql dislikes.

_)}ﬁﬁﬁoﬁi«ﬂﬂqﬁ@m
 F@ A Tl @ Aee e

2) By exploring and sharing

different cuisines and
F THH HTDI respecting other food choices.

3) @M F WAkg BN AW Wl A 3) By not eating with family
T b Fﬁh&;w AR A= & friends to avoid conflicts over
Y G AE food. |

4) HoA ﬁﬁ T gl ax 4) By ignoring cultural and
g ffgumeft & A9SRES regional variations in food
DI choices.

138, @ wEEd ot geeE @ @h | 138. Whatis the term for the variety of
gefadr e gezﬁ W Slegd W life on Earth, including all species
ffear & F1 FHel Al g7 of plants, animals and micro

organisms ?
Ay o fafaeran 1) Biodiversity it
2) NIEERIREANGE 2) Ecosystem :
3) warg qRad 3) Climate Change
4) HgHY b 4) Pollution
N
139. Foll RIH]?IT”TEEEI g sfoea fAEA 139. Ten Percent Law of energy

ﬁi@ﬁﬁm%ﬁgaﬁﬁﬁmwm?

transfer was given by Linderman

in the year :
o & 1924 2) 1942 1) 1924 2) 1942
3) 1956 4) 1842 3) 1956 4) 1842

o
[ Level-1/1101] ﬁ P.T.O.
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[44/D]

140. F U@ & g S @ e a9
s Tl o ¥ 7

1) S} § ST ATt AT g9

2) R Bl ool ey & ot
S

3) Wi F = = # gravee

e oftlll ok wiPrl &t
/weﬂaﬁr

141. EVS ¥ @Ml Reor @1 gqg
R frfefad & § #i-ar & ?

1) P Bfea o
2) drEw Fogear & Miew v &

GlEn
=3 T YN R o=wer A
KT Gerar 1
4) TCHT A5 @ ;
142. = @9 R qeam s
e # gERa #9 3 /y Evs §

?ﬁ—mﬁrﬂwgﬁe@rﬂwﬁwﬁr
?

1) SreE-anegig A
2) P s e
—3) ATHAHE R ofx ==t

4) HTHIBA g

143. ol & ROV f qeEw g
Wﬁ‘qﬁ*fﬁaﬁﬁﬁﬁﬁ-iﬁgﬁq

GEGHCIE e
1) gTaE 2) Ty
37 gfke 4) wr

[ Level-1/1101]

~ 140. What

141.

142.

143.

ijs the primary sepne.

experience describ.ed .|

moving through the thick foreg

the way to school ? ]

1) Bright sunlight filterin,
through the trees

2') Complete silence with
na@al sounds

3) Thg rustling  of
underfoot

4) The sounds of various birg,
and creatures

leaygg

Which of the following is a key

principle of constructivist teaching

inEVS?

1) Teacher centered learning

2) Pagsive student role
leaa%hing process

3) Actr-i_?le engagement in problem
solg’mg and exploration
4) Rote memorization

Which teaching approach is most
effective in EVS to encourage
critical thinking and Inquiry based
learning ? ‘

|

1) Lecture-based instruction

@) Teacher centered approach

3) Experimenta]
discussions

4) Staﬁ(ﬁlardized testing

A
While Lﬂldentifying features of

leavesw i ]
wWhich of the following

Senses s mogt relevant ?

) Hearing 5 g .1

3) Sight 4) Taste

t. Tl
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2) fqea Feome Raw

3) @ el faad

4y fagg a9 Rag
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Sq gl 3 gy ‘ofar & dee”

P SEYROT § gIH s Mpear d
geg 8 7

1) - _2y” i

3) WY& 4) FHA

T Y eFrE Rdwer = ® 7
-

1) S TR B GRS SREdE
"

o B i

2y o & ff sUR o F' Sfad

3 R aw® B
3) T daw ARE@ SR @ A

4) T & w9/ g § g @
HITT T 2,

!

144.

145.

146.

1417.

[45/D]

In the context of unequal food
distribution, which issue is most
likely to be discussed when
comparing wellfed children with
those suffering from malnutrition,
disease and hunger ?

1) Access to healthcare facilities
2) Socioeconomic factors

3) Climate change impacts

4) Technological advancements

Which environmental awareness
day is observed on March 21st to
celebrate and raise awareness
about the World's Forest and their
significance ?

1) World Environment Day
2) World Wetland Day

3) Bhopal Tragedy Day
4) World Forest Day

_41

Which of the following source of
water is most likely to be closely
related to the concept of a "Family
Member" in terms of water sources ?
1) River 2) Pond

3) Sea 4) Well

What is the unique feature about
water ?

1) Water is salient and

unchanging element of nature.

2) Water has various forms and

essential for life.
3) Water is only present in rivers
and waterfalls,

4) Water primarily
misfortune in the world.

causes

R
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[46/D] | ﬂ

following materija] .

148. Prefed & 3 - AR 148. Which of the

WSl @ g€ @S § o 7@ A not typically derived from
h1 obtained fro{m; forests ? | '
i 1) Paper Q '
it el 2) Thermoc@
O g ~ 3) Matchsticks
: W 4) Plywood

149, |
49. EVS fmr & &5 wqor ofv e 149. What is the significance of figlg

TR 7 1 wewg 2 visits and practical activities iy
EVS teaching ?
D) TR g 3 erm g S
i 1) They are not recomm 4
ST TE oo Y = .
e due to logical challenges.
- - r“—‘
SR # AR s o 2) They prlovide students with
EREIGIE IR o o UESY "

hands-on-experiences and aW

deeper understanding  of |
I

environmental concepts. \

L | 3) They should be limited to
3 u ‘rJI'%Q . 2 theoretica] discussions.
‘ IS fRrehRf 4) They are only useful fOI'I
advanced learn |
SUgRfY ers.
150, ﬁ":‘lﬁ:’zﬁ T8 P 9 HT q 150. wn 3 : |
o ; ich
B I 0 s | | of tﬁe following is not
& BlIEG denvedfro n ani
, ' ' Tll'E’fl dnimal source and
ITE 1s conmdel@d a 1
1) T Product ? i, baSEd'
e it 1) Milk
s ; \
R I% 2) Soyabean
AL ) Paneer

2
4
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